AGe Tl
s
\O-19 99
20 ~4 !
A -39 S
(£) (x)
. AGeS  FRe®  pmipeaas Dk
o-Y o 0.%5’f.33 3(s)=1.S -}Z': g_f_{
S-9 2 1S 2(2s)= (0 iTO
10-14 S 2.5 S (95)= LS ~ %8s
1S-19 h) 9.5 R(I9s)= 310 el
CACL I 35S ANS) T YS @
2F=30 - S Pxs 33 -
H'F” . nx"l — _ _

. ACes RN nSnRTS ¥-x X=X (x-%)° (x-xF
Q-9 0 Aog e S-BSI= VRS 35V INIS 0ISEITERUS
\0- 19 y IS H(5)760  15-235=-85 (-3s5P= 105 T0SU): 289
20- 909 O 3S 10(35) =30 S -ns5= 1S Cf.s)a: 23S 232s(io)= S
- 139 3 3s 33s5)= 1S 35 -3RS-= s CII.S?: 132,95 1335GF 39L9S
Mo-ud 1 us IM=ES usaszals GrsPogwas dwas(1): Yeas

_ £.X= 0 —
Z‘F— 20 g 20{-;()??: 2SS
J= 25X :%9 =S — J?JCK-J\’)*’F
v Se I




